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1. (15%) Solve the following differentizl equation

y"-6y"+9y=2¢", §(0)=0, y'(0)=1.

2. {15%) Find the general solution of

.Xy777+3y”::ex

3. (15%) Using power series method to find the solution of

y =2xy

4. Given the equations

3x-4y-+5z=-1
-3x+2y+z=1
6x+8y-z=35

(a).(15%)Use Gaussian reduction me

(b).(15%)Use Cramer’s rule to find the solution.
(©).(15%)Use x=A"'b form to find the solution.

5. (10%) Using the method of least squares, {it & straight

line to the given points (x,y).

(2,0), (3.,4), (4,10), (5,16).

thod to find the solution.






